SEC 9.13

3. Using f(z,y) =2=V16 —x2 weseethatfor 0<x <2and 0 <y <5,z >0.
T
Thus, the surface is entirely above the region. Now f, = - ———, =0,
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11. There are portions of the surface in each octant with areas equal to the area of the portion

in the first octant. Using f(z.y) =z = v/a? — y2 we have f, =0, f, = L ;
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26. Write the equation of the surface as » = 6 — 2y — 3z, Then zy, = -2, z, = =3; dS = /14+44+9 = V14,
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33. The surface is g(z,y,2) = 22 + y> + 2 — 4. Vg = 2xi+ 2yj +k,

2ri 23 k ;,3 3 z
Vol = VI T T n 2ET itk g 24tz
Var? +4y2 +1 12+ 42 1
Zp = =21, 2y = -2y, dS = \/m dA. Using polar coordinates,
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